A/

S YMONS

BY DAYTON SUPERIOR

Flex-Form Safety Applications

ALL SYMONS COMPONENTS AND ACCESSORIES ARE DESIGNED WITH SAFETY AND PERFORMANCE IN MIND.

THE APPLICATION NOTES ON THIS SHEET WILL HELP YOU ACHIEVE A SAFE AND PRODUCTIVE FORMING
OPERATION. IT IS RECOMMENDED THAT ALL CONSTRUCTION PERSONNEL THOROUGHLY FAMILIARIZE THEM-
SELVES AND COMPLY WITH THE APPLICABLE INDUSTRY STANDARDS AND SAFE PRACTICES ESTABLISHED BY
"THE AMERICAN CONCRETE INSTITUTE, AMERICAN NATIONAL STANDARDS INSTITUTE, THE OCCUPATIONAL

IMPORTANT:

ALL FORMING AND SHORING COMPONENTS MUST BE
INSPECTED REGULARLY FOR DAMAGE OR EXCESSIVE
WEAR. EQUIPMENT FOUND TO BE DAMAGED OR
EXCESSIVELY WORN MUST BE REPLACED IMMEDIATELY.

ANCHOR CLAMP ADAPTER

50K SHE-BOLT OR TAPER

® NORMAL REQUIREMENT:

NOTE:

<<_._mz. LIFTING GANGED
SECTIONS FROM A

® SAFETY AND HEALTH ADMINISTRATION, AND THE SCAFFOLDING AND SHORING INSTITUTE."
ASSEMBLY  noe: ALIGNMENT & STRONGBACKS 3 ,
THIS SECTION DEALS WITH REINSTALLATION OF ROLLED RIBS SHOULD A FIELD CHANGE BE HOOK AND CHOKERS ——= 2 PART CHOKER AT EACH S wwmzxﬂ%g LIFTING
NECESSARY. PANELS ARE SHIPPED WITH ALL RIB FACE BOLTS INSTALLED AND A MINIMUM BY OTHERS END OF PANEL A, 5/16” DA, PLYWOUD
NUMBER IN HORIZONTAL LEG WHICH ARE REMOVED FOR STACKING AND FORM ON GRADE. 11/16” DIA. HOLES . ,
e ALIGN AND TIGHTEN SECURELY (TYP OF 4) 5" VERSIFORM WALER O X CONNECTION HOLES
DIAGONALLY OPPOSED
\ noTAL ALL BOLTS AT — e  (CENTER BOLTS ONLY) N N o ;
_— Q
S — A. LAY PANEL SECTION ON WOOD SLEEPERS TO PROTECT SKIN PLATE. N ) 5/8'%5" VERSFORM BOLT—] | O % .
T INSTALL BOLTS N[ ] B. INSTALL BOLTS FROM ONE END OF RIBS. FINGER TIGHTEN. AT WALER CONNECTION ~0 ) 13/16"x1 1/4” SLOTS 1 9/16" DIA.
HORIZONTAL LEG AS N ] EN@ o < 0 HOLE
REQURED FOR WALER CONNECTOR ———~ e 1
ASSEMBLY ; q h d
THIS METHOD IS SUGGESTED ATTACH AT 2ND HOLE S . ANCHOR
STEP 1 FOR RADII LESS THAN 10'~0" FROM EACH SIDE 3/4x2" SPEED-BOLTS —— |
A. SET PANEL ON SAWHORSE OR ASSEMBLY FIXTURE AS SHOWN. <TEP 2 N & NUTS /r%@zmw
B. POSTION RIB AND BEGIN BOLT INSTALLATION. FINGER TIGHTEN ONLY. A. CONTINUE BOLT INSTALLATION BY APPLYING FORCE AT FREE END OF RIB. . Nl O “ | PLYWOOD EXTENSION
= '
CAUTION % BOLTING AT TOP OR ) ALIGNMENT BRACKET  ALIGNMENT APPLICATION
EXERCISE CARE WHEN REMOVING ROLLED RIBS FROM PANELS, o BOTTOM OF GANG TO AVOID
DUE TO PANEL "SPRING BACK”. _f EXTENDING BEYOND FORMS. O \
% ® ALIGNMENT BRACKET USED TO ASSIST IN HOLDING ALIGNMENT 11/2x13/16” SLOT
INSTALL BOLTS AT EACH . y N ONLY. DO NOT USE TO RESIST CONCRETE PRESSURE. SPACE
STEP 3 STIFFENER AT RIB FACE o \ w\ M- I | / AS REQUIRED. TOP TIE / LIFT BRACKET
A. FINAL BOLT INSTALLATION MAY REQUIRE RAISING PANEL TO RIB AS 13/16"x 1" SLOTS S wwmzvmﬁ%z_ {
SHOWN. DO NOT USE ANY TOOL WHICH MAY DAMAGE SKIN PLATE SURFACE. (TYP OF 3) 12
3 ? L - FUNCTION SAFE WORKING | SAFETY
T THESE BOLTS REQUIRED FOR RAISE FLEX-FORM PANEL TO RIB AND INSTALL 3/ 7/8 ] ”_,m,m_,zwr\wﬁo_zo - LOAD FACTOR
REFERENCE OUTSIDE RIB INSTALLATION FOR OTHER NOTES AND RECOMMENDATIONS. ASSEMBLY ONLY. REMOVE FOR BOLTS. FINGER TIGHTEN UNTIL ALIGNMENT IS 2 —
STEP 2 STACKING AND FORM ON GRADE  ACHIEVED, THEN TIGHTEN FACE BOLTS SECURELY. . EASTENERS BY < USED AS LIFT BRACKET | 4000 LS. 5 10 1
A. COMPLETE INSTALLATION OF BOLTS. BOLTS ARE REQUIRED AT EACH STIFFENER LOCATION. STEP 2 % NONTRACTOR —0 (LOAD VERTICAL)
B. CHECK ALIGNMENT OF RIBS AT ENDS OF PANEL AND TIGHTEN BOLTS. SIEP 2 WALER CONNECTION CHANNEL = 0 S USED AS ToP TE 5000 165 T To T
© No .
ame LOAD HORIZONTAL
OUTSIDE RIB INSTALLATION INSIDE RIB INSTALLATION ALTERNATE RIB INSTALLATION _ —t | A )
FORM SUPPORT SYSTEM NOMENCLATURE » % e o o I e b
" E © 4% P DA | 3/4"x3" SPEED-BOLT
13/16°1" SLOTS FOR CONNECTION PLYWOOD EXTENSION/ o WOXTAFORN CUARDRAL 1 ROLLED RIB 1S SHIPPED ASSEMBLED WITH MAX—A-FORM GUARDRAIL & NUTS % NUT
Soctp DOR LA T 3/4'x2 ALGNMENT BRACKET BOLTS AND NUTS AT EACH STIFFENER POST O O ||~ rex-Foru 342" SPEEDBOLT
B LOCATION AT FACE (3" LEG) OF RIBS. N y PANEL % NUT 1// F
13/16"x2" SLOTS FOR ATTACHMENT \ . : u R
3/8" PLATE . : PANEL ALIGNER _m=h
OF MAX-A-FORM THRUST BOLT °F : ,—DECKING BY CONTRACTOR @ @) %WI-W
WITH 3/4°x2" SPEED BOLTS & NUTS FLAT 1 1/2°x1/2" 50K SHE—BOLT OR TAPER 13 A 13/16'x1" SLOT — PLATE I//|N PLYWOOD EXTENSION APPLICATION 1y | -FEK-FORM (REF)
TIE WITH BATTER WASHER F Al TOP T /LFT BRACKET * (NP OF 2 B ] M — O
50K SHE-BOLT BOLT OR TAPER TE FLEX—FORM o [ e v g%:=aame to L I
WTH BATTER WASHER & CAST 7 PANEL e / , %mmow\ww%m < 0P TE / LET BRACKET
ok AT N , 9 MUST ALWAYS BE PLACED I
CONTOUR NUT TIE BEARING BRACKET : {2 . / 3 '/ % NUTS oAl O
— °F 1 \ MAX—A~FORM ALTERNATE A yd ||-w
o[ 1 . WALKWAY BRACKET . [Q 4 Yy N
MAX—A-FORM THRUST BOLT o . \ & o o L AE . B B o
ot oF ; . : a0 | |3 PANEL ALIGNER \
K : ~——BRACE AS REQUIRED 0 >7Z 8B _A- o
= =, -k . N : NCgREENINE ol ﬁmzohomﬂz%ﬂr%mzﬁm PLATE 3/4"x3" SPEED ADJUSTMENT RANGE PIPE FORM ALIGNER
T —— o " : ° FLEX—FORM PANELS 0 ol ] : N BOLT & NUT 13'-=9" TO 20’-3" WHEN ADAPTER
. MM R IR ; ; ; s O TURNBUCKLE 15 IN 4000 LBS. SAFE WORKING
ANCHOR CLAMP ADAPTER BOLTED | 3 : m/w BES / = W NEUTRAL POSITION, ALLOWS LOAD (LOAD VERTICAL .
TO ANCHOR CLAMP °F : : TR ; ﬁ\ ™ ALTERNATE /lﬁmVA oR FOR 6” (PLUS OR MINUS) ( ) A
- °f. b ? IREE IR x| " = ALIGNER PLATE - OF THREAD ADJUSTMENT.
3/4°x2" SPEED BOLTS [ : TIE BEARING BRACKET ** = J1BE yr ol PANEL ALIGNER PLATE LOCATION PANEL MIN, = 13-3" PIPE FORM ALIGNER Mu%w%wmw%gm)!
& NUTS . . : R el ) SECTION AT PANEL JOINT WAX. = 20'-¢" EXTENSION
\ . . TS e i ELEVATION AT PANEL JOINT TP TE / LIFT m
o . . IR . 5/8"x4 1/2" COUPLING PIN A
MAX—A—FORM ANCHOR CLAMP : : ol | [ : 7
\ FILLER PANEL (AS T "F rn\“. | PANEL ALIGNER PLATE M,N_v‘ wmﬁ__ﬂmu m% ASSEMBLY) . :
: : REQUIRED ON OUTSIDE P .
ANCHOR BOLT OR ROD SIZED FOR m m 3" MAXIMUM STARTER FACE FOR PANEL o>_zv / A M
©

; it
g T E PIPE FORM ALIGNER
11/2” DIA. MAXIMUM / POUR : R sdSEEENE TIE WTH BATTER WASHER 5 REQUIRED AT 12—0" PANEL ASSEMBLY
i e AREIAE AND CAST CONTOUR NUT s
. REEOWE RN N * m of | [e 4 REQUIRED AT 8-0" PANEL
NOTE: : } # TYPICAL CONNECTION HARDWARE: , : A s / e
SAFE WORKING LOAD OF MAX—A—FORM ANCHOR BOLT ] : 3/4x2” OR 3/4'x3" SPEED BOLT 0 AL T~ pLYWOOD EXTENSION / x 2 REQUIRED AT 4-0" PANEL PIPE FORM ALIGNER
ANCHOR CLAMP CAPACITY IS MW.OOO b AND NUT ” -- m ” “ ALIGNMENT BRACKET ASSEMBLY
LBS. AT 2 T0 1 SAFETY FACTOR. MAYCA_FORM ANCHOR ———= I ® BOLTED ACROSS THE HORIZONTAL PANEL JOINT, THE PANEL O
o NOTE: CLAMP o v . \ . o ALIGNER PLATE IS USED IN LIEU OF ALIGNMENT WALERS FOR Mﬁmz_mmmMIOm WHEN PIPE FORM ALIGNER ADAPTER
THE ANCHOR CLAMP ADAPTER IS _ : OPPOSING PANELS MUST BE THE I m TIES MUST BE PLACED AT EVERY PANEL STACKS UP THRU (3) HIGH (18'~0" MAX.). PANEL e oy o FROM
INTENDED TO PUSH PANEL GANG TO e TG EXTEROR Ford | SAME WIDTH AND LENGTH FOR TIE 5Kl HORIZONTAL TIE LOCATION. TIES ALIGNER PLATE MAY BE USED AT VERTICAL JOINTS IF DESIRED, ANCHOR BOLT OR :
ALIGNMENT. STACKED PANELS X MUST BE PLACED VERTICALLY AT BUT IS USUALLY NOT REQUIRED. STAKE (BY CONTR.)
PREVIOUS POUR. IT IS NOT INTENDED o m_\%omm_mmm@ﬂmwm_zo WALERS MUST BE THE SAME LENGTH FOR THE BOTTOM OF EACH PANEL WITH .
mw%wmmw%mmﬂ%ﬂm%%, rH_mmmmo AT B : JOINT BOLT ALIGNMENT. A TOP TIE OVER THE TOP FORM. o FOR PANEL GANGS EXCEEDING 20°~0°, USE V/F WALERS N
. WALL POUR APPLICATION CONJUNCTION WITH A REDUCED QUANTITY OF ALIGNER PLATES. PIPE FORM ALIGNER
ANCHOR CLAMP ADAPTER TO BE USED FOR THE ALIGNMENT
OF WALL FORMS ONLY
IMPORTANT:
. 50 KIP SHE-BOLT 50 KIP TAPER TIE
BRACING TIES 1" CAST CONTOUR NUT WALKWAY BRACKETS ® WARNING — IMPROPER
% WARNING | 1) 8race uusT 8t IN PLACE WHILE SETTING TE BRACKET ANGLE BRACKETS AND WALKWAT
. 7/8" DIA. CONTOUR o] ) v
FORMWORK AND REMAIN IN PLACE UNTIL FORMS Ny e R D eRORAL e e Wt A7 ATICHED W /2 COMPONENTS MAY RESULT IN

UNSECURED FORMWORK CAN
FALL OVER CAUSING SEVERE
INJURY OR DEATH !

ARE STRIPPED.

2.) CONTRACTOR IS TO INSURE THAT FORMWORK IS
PROPERLY BRACED AND STABILIZED AGAINST WIND
AND OTHER EXTERNAL FORCES.

STRIPPING AND REMOVAL OF GANG FORMS

1.) ATTACH THE CRANE RIGGING TO THE LIFTING
BRACKETS AND SLOWLY TAKE UP THE SLACK IN THE
RIGGING.

2.) SAFELY REMOVE ALL TIES, BRACES, AND
ALIGNERS.

3.) BREAK THE BOND BETWEEN THE CONCRETE AND
THE FORMS. DO NOT USE THE CRANE TO BREAK THE
BOND.

4.) MOVE THE GANG FORM TO THE NEXT LOCATION.

5.) FULLY BRACE AND SECURE THE FORM BEFORE
REMOVING CRANE RIGGING.

QP

!

(-

%0

Q€ ONWO

701, SYMONS RECOMMENDS GLOVES,

HARDHATS, SAFETY SHOES, AND
SAFETY GLASSES BE WORN DURING
ALL FORMING AND POURING
OPERATIONS.

AS A SPACER

TOP TIE/LIFT BRACKET
(SEE DETAIL ABOVE FOR

1

CAPACITY)

IR
.

LAGSTUD (WASHERS ARE
REQ'D FOR 1" DIA. OR
SMALLER LAGSTUD)

FLEX—FORM _u>zm_./ s
TIE BEARING wm>oxma//

G]o 0 0 e 000

0 0 0 0000 O O O0O
o

[
P .
[¢]

o

\
BRACE AS—=\

REQUIRED

\

0 0 000 OO 0 0 0 O
.

0 0 000 OO 0 0 0 O

NOTE:

TOP TIES SPACED AT
5'-0" MAXIMUM. MINIMUM
NUMBER PER PANEL IS :
3 - 12" PANEL

2 — 8 PANEL

1 — 4 PANEL

MAXIMUM SPACING FROM
END OF RIB IS 2'-4"

_”m_._mlmo: OR TAPER TIE
WITH REQUIRED HARDWARE

TOP TIE APPLICATION

SLOT

13/16"x3 1/8"

y NOTE:
MAXIMUM ALLOWABLE TIE
LOAD = 21 KIPS
| 7 1/4" GRIP
N
O
O ™y
TIE CENTER LUNE—+— - —r_—
O &
I o
FLEX—FORM —— %M s
PANEL (REF) .
NOTE.:

TIE BEARING BRACKET MUST BE ALIGNED
ON PANEL FOR BEARING DIRECTLY OVER

(2) STIFFENER WEBS.

TIE BEARING BRACKET

(SEE NOTES 2 & 3)

GUARDRAIL POST
WOOD HANDRAIL AND
DECKING (BY CONTR.)

Q\V_J\WAMW BATTER PLATE
‘\
_%a %Mm_zo y E/% % FLEX-FORM PANEL
% 11/4" CAST N\
. CONTOUR NUT I\W@
== HAMMERING CAP
_ /8 - /8 5/8"
= " o o O e O o R &
Ll ) U SPECIFIC TIE NOTES ™
TAPER TIES R 50K 96K 128K 65
Q
FLEVATION A-A A.) WHEN USING TAPER TIES, IT IS 0
DESIGNATION o | o2 | UeAE SAFE WORKING LORD AT VERY IMPORTANT THAT THE TIE NUTS N
T e RV o ARE CONSITENTLY FITIED SNUG. AN :
Ama. MAX. oz_.é 96K 11/ 11 \m.. 96,000 LBS. 48,000 LBS.
(STS ONLY) 128K | 32mm | 32mm | 128,000 LBS. 64,000 LBS. TIE FAILURE DUE TO UNEVEN TIE °
(STD. MAX. ONLY) 65 | 20mm | 20 mm | 65,000 LBS. 32,500 LBS. LOADING. USE OF WALL SPREADERS 0
R TE IS RECOMMENDED TO AID IN °
_N\._m_ _hv_ _N\...r_ _m\.m_ MAINTAINING FORM SPACING BOTH N
................ DURING ERECTION AND POUR PROCESS. o
= (] O O
_ .................. -~ = — — B.) TAPER TIES MUST BE ADEQUATELY 0
E
—— SHE—BOLTS A I LUBRICATED TO AID IN STRIPPING. °
Q
(STD. MAX. ONLY) 50K | 7/8" | 1 1/# 2 50,000 LBS. 25,000 LBS. 0
Am._._u. MAX. oz_.é 85K | 1 A\m. 1 A\N.. 21 \\_.. 85,000 LBS. 42,500 LBS. °
(STS ONLY) 128K | 26mm | 32mm | 2 7/8" 112,000 LBS. 56,000 LBS. 32mm SWIVEL NUT
S.0. (STS ONLY) 128K | 26mm | 32mm | 2 7/8" [128,000 LBS. (Heat treated) 64,000 LBS. 64,000 Lb SWL °
(STD. MAX. ONLY) 65K [ 20mm [ 20 mm | 2 7/8" 64,000 LBS. 32,000 LBS. 20mm SWIVEL NUT o/

THE SAFE WORKING LOAD OF THE SHE-BOLT TIE ASSEMBLY MUST BE REDUCED IF INNER TIE ULTIMATE STRENGTH IS
LESS THAN SHE-BOLT ULTIMATE STRENGTH. SYMONS PROJECT DRAWINGS INDICATE SAFE WORKING LOAD OF ASSEMBLY
WHEN INNER TIE IS SUPPLIED BY SYMONS CORPORATION. —

S.0. INDICATES SPECIAL ORDER.

32,500 1B SWL

SEVERE INJURY.

ERECTION.

ALTERNATE WALKWAY

BRACKET

3/4"x2" SPEED BOLT

WITH NUT (TYPICAL)
STANDARDS.

® DO NOT USE WALKWAY
BRACKET AS A LIFTING
BRACKET OR TIE-OFF.

o ALLOWABLE LOAD ON
WALKWAY BRACKET IS 800
LBS. @ 4:1 SAFETY FACTOR.
WHEN THE WALKWAY
BRACKETS ARE SPACED AY
8'-0" C/C, MAXIMUM
ALLOWABLE APPLIED LOAD
ON BRACKETS = 25 PSF.
SECURE PLANKING TO
WALKWAY BRACKETS.

® THE CONTRACTOR IS
RESPONSIBLE FOR ENSURING
THAT ALL WORKERS HAVE
ADEQUATE FALL PROTECTION
DURING FORMWORK

e [HE CONTRACTOR IS
RESPONSIBLE FOR DESIGNING
AND SUPPLYING ANY
ADDITIONAL COMPONENTS
(PLANKING, GUARDRAILS,
ETC.) REQUIRED TO CREATE
A WORK PLATFORM WHICH
MEETS OR EXCEEDS ALL
APPLICABLE INDUSTRY

HORIZONTAL TO VERTICAL
POSITION, EXTERNAL WALER
ARE REQUIRED TO CARRY
THE BENDING MOMENT ON
GANGS IN EXCESS OF
20’-0" HIGH.

]
[¢]

o

PANELS

FLEX-FORM

L. ~3/4’x2" SPEED-BOLT
& NUT

O 0 00 0 0O 0 O

— 3/4"x3" SPEED-BOLT &
] NUT

LIFTING WITH TOP TIE / LIFT BRACKET

IMPORTANT: SEE SYMONS APPLICATION DRAWINGS, APPLICATION GUIDES,
AND SAFETY SHEETS FOR ADDITIONAL IMPORTANT INFORMATION, INCLUDING
GENERAL NOTES AND LOCAL BRANCH CONTACT INFORMATION.

O

SYMONS

BY DAYTON SUPERIOR
200 ARTHUR AVENUE

ELK GROVE VILLAGE, iL. 60007

PHONE (800) 800-7652

Website: www.DayfonSuperior.com

FLEX-FORM SAFETY APPLICATIONS

FlexForm Safety Sheet Rev. 10-14-14

FOR

JOB

LOCATION

DATE DRAWING NO. SHEET NO.
Copyright 2005, Symons Corporation | REP.




	Contractor: 
	Job Name: 
	Location: 
	XX-XX-XXXX: 
	XXXXXXXX: 
	Sales Person: 
	XX OF XX: 


